Name: ____________________________ Date: _________
Grade 4 - Unit 1: Place Value, Addition and Subtraction to One Million
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TargetsA = Achieved Target
NA = Nearly Achieved Target
D = Did Not Meet Target


     
                                                                           
-----------------------------------------------------------------------T 1-----
1.) Mario fills out an information card. His ZIP code is 83628. His area code is 208. Which statement about the value of the 2 in 83,628 and 208 is true?

A.   It is the same in both numbers.
B.   It is 10 times as great in the ZIP code than it is in 
  the area code.
C.   It is 10 times as great in the area code than it is in
  the zip code.
    D.    It is 100 times as great in the area code than it is
            in the ZIP code.


2.) Gomez needs to order 2,400 sheets of paper for art projects. The paper is sold in packs of 100 sheets. How many packs of paper should he order?





3.) Compare the values of the underlined digits.

	2,000 and 200 

         The value of 2 in _______________ is ________ times the 
          value of 2 in _________________.
4.) On Monday, a music site sold 96,527 downloads of the new song by a popular band. What is the value of the digit 6 in 96,527?






5.) Fill-in the table with the number being described.

	Thousands
	Hundreds
	Tens
	Ones
	What Number?

	
seven

	
eight
	
nineteen
	
two
	

	
twenty

	
thirty
	
four
	
fourteen
	

	
nine

	
sixteen
	
three
	
one
	

	
one hundred

	
ten
	
ten
	
ten
	





------------------------------------------------------------------------------T 2 ---------


6.)  An office supply store sold 410,309 pencils last year. What is the expanded form of 410,309?





7.) Write the number.

a.) fifty-six thousand, one hundred one
                                               	                _______________________

b.) nine hundred twelve thousand, thirty seven 
                                                                         ________________________

c.) nine hundred thousand, nine hundred nine 
                                                                        ________________________

d.) eighty thousand,  six hundred forty four
                                                                       _________________________


8.) Use the clues to create the number.

The number is written by using each of the digits 3,4,5,6,7,0 only once. 
The number has a 6 in the hundred thousands place.
The number has 0 hundreds.
The number has 4 ones and 3 tens.
The number has a 7 in the thousands.
The number has a 5 in the ten thousands.

What is the number?  __________________________________________




[image: ]9.)  



















10.)  Circle all the math sentences that are true.

          125 + 125 = 200 + 40 + 5 + 5         

          6 thousand + 6 thousand = 12 hundreds

         30 thousand + 100 thousand = 65 thousand + 65 thousand

         16 tens = 100 + 6
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------------------------------------------------------------------T 3 ---------
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---------------------------------------------------------------T4--------------
14.) [image: ]
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16.)  Fill in the chart below by rounding each number to the  
         nearest 100.
	Number
	Rounded to the nearest 100

	391
	

	8,901
	

	61,720
	

	44,750
	

	103,989
	












------------------------------------------------------------------- T5 ---------

17.) Solve.

    4,437		          2,883			      1,967	              +  3,842	              +  3,911                      + 3,405	





18.)	Solve.

     4,762		              7,800		       8,224		                               -   2,174		            -    592	            -  1,259





19.)  
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20.)  
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21.) 
[image: ]





22.)  
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---------------------------------------------------------------------T6--------
23.) Draw a bar diagram to represent and solve this problem.

         [image: ]




24.) Draw a bar diagram to represent and solve this problem.

          [image: ]
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image3.png
The table shows the number of
votes for each of three candidates
during an election.

Election Results

Candidate Number of Votes
Clark 1,721
Perez 1,721

Jones 11,127





image4.png
What list shows these numbers in
order from least to greatest?

A 11,721;11,127; 1,721
B 1,721;11,127; 11,721
c 1,721;11,721; 11,127
o 11,127;1,721; 11,721 g
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Greenstone Veggie Company sold
701,044 cans of green beans last
year. They also sold 701,404 cans of
tomatoes last year. Write <, >, or =
to compare the number of green
beans and tomatoes sold last year.
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Ellen's city has a population of
45,728, What is 45,728 rounded to
the nearest hundred?

A 45700
B 45,800
© 46,000
b 50,000




image7.png
An office mailroom sorted
182,617 pieces of mail last year.
What is 182,617 rounded to the
nearest hundred thousand?




image8.png
Volunteers worked for a total of
10,479 hours at the science center
this year. Last year, they worked
8,231 hours. How many hours did
the volunteers work in both years
combined?

e |
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Mrs. Torres paid $139,000 for her
house. Eight years later, she built an
addition for $67,500. How much did
Mrs. Torres pay for her house and the
addition?

A $81,400

B $196,500
¢ $206,500
D $296,500
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Attendance at the county fair this
year was 224,768. That was 17,382
more than last year. What was the
attendance at the county fair last
year?




image11.png
The total number of adults and
students with library cards is 27,814.
In that total, 11,480 are student cards.
How many adults have library cards?
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Last year, the ticket sales for a commercial hot air
balloon ride were $109,076. This year, the ticket
sales were $125,805. How much more were the
ticket sales this year?




image13.png
There were 665 hot air balloon pilots at a hot air
balloon race. There were 1,550 more ground crew
members than there were pilots. How many ground
crew members were there?




image1.png
Alaska has a land area of 571,951
square miles. What is the correct word
form of 571,951?

A fifty seven thousand, nine hundred
fifty-one

B five hundred seventeen thousand,
nine hundred fifty-one

¢ five hundred seventy-one
thousand, nine hundred fifteen

p five hundred seventy-one
thousand, nine hundred fifty-one
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Albany has 243,085 residents. Write 243,085 in two different
forms, and name each form. Explain why this number must have
azeroin it
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